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rd “Sociable” ?

L What s i onym of wo
the most a propnate synony
)  Inhos imbl: ®) Bankrupt (© Snob
b B Question not attempted

(D)  Friendly
2. ey d SR ST €7

@ = ® 1 ™ ©
® ¥ ® IR
3.  Choose the most appropriate articles for the sentence given below : ' o
But mine is not typical story. Inmy story Scotsman is generous, Irishman is logical and
Englishman is romantic. Oh, if it’s fantastic story I'll listen with pleasure.
(A) _____;thean,an;a,

(B) a;aanan;a,
(C) a;the, the, the;
(D) a; the, the, the; a,
(E)  Question notattempted

4 v AT E e v o v e s § R e e 2

A)  fre fafire T &y o % ®9 H (B) SAYMFEIH
(© T W EYH D) TR HTHS % T TG I ok T H

(B) 3R ¥

5. How many person have held the post of Chairman of NITI Aayog since its formation (till July, 2024) ?
SRy ST ¥ TS F AR A o1 e (S, 2024) TR SR TR STEAE TR W S gUE ?

-

@ 1 ® 5 p © 4
® 2 (E)  Question not attempted / T T¥H

6. Given below are two statements : ™~
Statement (1) : Rajasthan gets rainfall from the Monsoon of Bay of Bengal and Arabian Sea.

Statement (II):  Bay of Bengal Monsoon pass through the Rajasthan without giving much rainfall to it because
there is no proper obstruction available in the passage of it.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (I) is incorrect but Statement (IT) is correct.

(B)  Both Statement (I) and Statement (II) are correct.

(O)  Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(B) Question notattempted }

9 9 FuA R g vJ

FHOA([): T F T SR S R AR § ToRyE A aw g el

Y (IN): SIS Rl I 1 A e B f armaq‘fmw%‘, Hifeh $9h oA & AT A TFEt gaR

H ATH T T i
Tl el o ST 8, it R Ty forere § Q werdt SugE S |
(A) T () T T, AHEA R (1) W ¥ '

® () SR FE (1) A ds AT D
© e (1) IR H (1) T e ¥ ‘;ﬁTﬁ B
D) T () T E, AT e (1) Torg we Zﬂ’.s')‘cé -

®  TIARa T
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7. In which month is the festival of Kajli Teej celebrated in Bundi ? :
(A) Shravana (B)  Phalgun © Bhadrapad
(D)  Chaitra (E)  Questionnotattempted
g HEH § hofell AT o1 TR S&1 H FHE1 9aT 8 2
A HET B) WM © YRR
O A (B IRa T
g, o @M @ fam d@fy &1 e T ¥ 2
(a) @ frm © T
® =AW (B IuRdTHA
9.  TheCouncil of Ministers of Indian Urz’;ign'is collectively responsible to the :
(A) LokSabha ~(B) DPresident (©  Prime Minister
(D) Rajya Sabha (B) Question notattempted
YR | o T How o 93K Hrjfes B9 4 T wiy swadt S €2
(%) B) T © s
(D) TEE B) ARETH
10. Psamments, Orthents and Fluent are sub-orders of which of the following soil type ?
(A) Alfisols ~([B) Entisols (© Inceptisols
(D) Vertisols (E) Question not attempted
e, St ﬁnwmzﬁmﬁrfaaﬁ@ﬁmﬁ@#m%mﬁ?
(A) HAferded ;":(B) Tifedred © Tofea
(D) afEEe™ ) FFARA ¥
11.  The Indian Institute of Space Science and Technology (IIST) was established in 2007 at :
(A) Jodhpur ’ (B) Chennai (© Thiruvananthapuram
(D) Vishakhapattanam (E)  Questionnotattempted
e Siafted fer S ST T (STE.AETEA.) 2007 H Rl W wenfuq foma w o ?
) g ® © fTreeagm
D) Tz B STIIRA T
12.  Which of the following trade policies mtroduced MEIS- Merchandise Export from India Scheme ?
(A)  Foreign Trade Policy, 2021-2024" | B) Foreign Trade Policy, 2004-2009
(© Foreign Trade Policy, 1991 _ :jj () ForeignTrade Policy, 2015-2020
(E) Questionnotattempted =
ﬁnﬁafaan@ﬁmwmﬁms mﬁﬂmm%w
(A) foke R A, 20212024 o ® TR FRAA, 20042000
© faw = i, 1991 o © TSR i, 20152020
() Faf@as
#823 3 @t " 1pNGIP PTO.
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14.

15.

16.

17.

18.

T R T P e BT
et L0 A T

Constituent Assembly of India ?

esolutions’ in the
‘ (C)  Rajendra Prasad

Who among the following moved the ‘Objective R

(A)  Jawahar Lal Nehru @ B.N.Rao
Question not attempted

(®)  BR.Ambedkar E)

Aot 3 9 e wRda wfasE @ | S Hehey' yegd feran ?

(A) ST T e @B HTLTE © THRTER
(D) IR e ) IR T

Which of the following archaeological sites of Indus Saraswati Civilization is in Pakistan ?

(A) Harappa (B) Dholavira (© Raipur
(D) Kalibanga (E)  Question notattempted
ﬁigmﬁamtﬂﬁmﬁ@mﬁmmwmﬁﬂaﬁﬁ%?

(A) wSH (B)  HerE © TR

(D) e () AT

Which of the following input devices allows to input alphanumeric characters and special characters into the
computer ?

(A)  Keyboard (B) Mouse (©  Monitor
(D) Printer (E)  Question notattempted

frefafad § 9 # o1 g7qe feary, guisiag quie (characters) 3 fasig quiien (characters) 1 FER H TN
SFAfd & g ? _

() FAE @) T © wHR

O fix (E) 3TIHiE ¥

In which year was the High Court of Rajasthan established ?

T I e e fRa ad g ? '

(A) 1951 (B) 1948 © 1949
®) 1950 (E)  Question notattempted / 3TTRA T

T A T G e dfY F /I E ?

(@) I (b) A (© ¥RFR (d Frora e 3SSR

3 feu U el § 9§ Aad IUgeR ST h1 A HIT :

@) FE (b), (d) ¥R (e) ®) % (a), (b) () €  F(a), (o) 2R (e)
D) F (o), (d) () E) SIERATT

“Glimpses of World History”, book is writtenby __ "~ = .

(A) Mahatma Gandhi (B) Jawahar Lal Nehru (© Raja Ram Mohan Roy
(D)  Sri Aurobindo Ghosh (E)  Question not attempted

“froreig S A fewdl g feed fad €7

(A) TR T (B) A TE TeE © TS TH HeE T

®) o swfE am € FAEa A

# B23 4

S B



19.  What is a Special Economic Zone ?
(Choose the most ap propriate option from below)
() Aunique zone which is subjected to higher taxes and duties.
(B)  Aspecial zone created in the capital of India for certain entities.
(©  Aspecially created arca for those with income of 1 crore and above per annum. )
(D)  Aduty freeenclave of developmentand is deemed as foreign territory for the purpose of trade, duties and
tariffs. )
()  Questionnotattempted
fod amfifer & w2
(=1 9 @ wa Suga fawe 9)
() T TSI & ST I 3T Y o el ¥
B) W W T g weensl & o e T f 8
© waad 1 e W SR i o A < ¥ ferg pmen T R 8
®) o Yok I & IR 2R, Yook iR i % sy § fadei &9 A S g
(E) ﬂﬂﬁiiﬁ A
20. If the wheel of the engine of a train, 7 meters in circumference makes 7 revolutions in 6 seconds, then the speed
(inkm/hr) of the trainis:
. 30 :
Iy fret T@met &% 399 & ufey @@t ity = et § iR 9% 6 YHve H 7 TeE A €, O et i =
(feft/sia ®) |2 :
@ 27 B 18 ' © 20
D) 25 (E)  Question not attempted / ST T¥
21.  Which of the following amendment act provided reservation of seats for women, in the Urban Local Bodies ?
A) 74th (B) 65th © 68th
D) 73rd (E)  Question notattempted
T T e o wfeenetl, v @6 & wwmmwmﬁ@mﬁﬁmmﬁm aAfufaem g feran
™ ?
@A) 749 ®) 659 © 683
@) 739 (B) ST
22.  The Rakha Copper Mines are located in ——
(A) Madhya Pradesh (B)  Rajasthan (©  Jharkhand
©) Odisha (E)  Questionnotattempted
TG HIR G Fal (6 & ?
&) FAT @B T A © wREs
®) shfem ® ST
23, ‘CAZRY institute is mainly involved in research of . -
(A) Mining of Minerals (B)  Sustainable farming systems in arid ecosystem
(©  Animal Husbandry in Desert (D) Landreforms
(E) Questionnotattempted 2 I
frfafe & @ frg WY § ‘CAZRY eI O 9 0 &7
@) S w T ®) Yo Rfefa 5 8 fomrs Hi woneh
© Xt TyEeE D) A gur
(B EE@IH
#B23 5
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24,

25.

26.

27.

ment (NAM) was
5)] Jawahar Lal Nehru

() Questionnot attempted

Co-founder of Non- Aligned Move
(A)  C.Rajgopalachari
(D)  Sardar Patel

© Mahatma Gandhi

WﬁW(NAM)%%Wﬁ; )
(A) € TeEErE B SR I © T M
D) FERTHA (E) T W

Assets Reconstruction Fund (ARF) was set up for the purposeof ___———

(Choose the most appropriate option from below)

(A) Toassist Reserve Bank of India on managing Comme
(B) Totakeover the bad and doubtful debts of Nationalise
(O Tofinancethe Commercial Banks on low rate

(D) Tofinance the Development Finance Institutions on low rates

rcial Banks
d Banks and Development Finance Institutions

E) Question not attempted
qﬁdﬂﬁigwﬁ'qhﬁﬁz(ARF)ﬁww,____ﬁTrﬁzﬂl

(Fr @ el g e )

(A) mﬁméﬁ%wmﬁwﬁuﬁﬁéﬁmﬁmm%fm

® Wﬁﬁﬁmmmﬁ%wﬁnmmﬁmﬁﬁﬁwﬁéﬁ%ﬁw
© iforfaes A w1 <A R fo FgH F o fag

D) W%ﬁwﬁﬁmﬁwﬁmm%m

€ S =i

The mother of Shivani’s sister Ritu is Kavita, the mother of Kavita’s sister Neha is Maya. How is Nebha related to
Ritu?

(A) Mother ' (B) Paternal Aunt (O Maternal Aunt
(D) Cousin (E) Questionnot attempted

frart 1 e Og A i §, o ) S a1y H T R, @ e o g @ e ¢ ?

(a) ® )

() T H S ) IR T

In the following question each set of numbers follows a similar pattern, find the missing number (?)

ﬁmﬁ@amﬁmmwa%,@mﬁmmaﬂwm%ﬁﬁﬁﬁﬁma)mml

’
© OO
®» 8 ® 13

o 19 ()  Question notattempted/ ST7afta wH

© n

#B23 6



8. Pangong Tso and Tso Moriri lakes are formed in which, part of Himalayan Range ?
(A) Darjiling and Sikkim Himalayas (B) Arunachal Himalayas
© Himachal and Uttarakhand Himalayas (D) Kashmir Himalayas
()  Question notattempted

i it i A el feme & v &9 o )

@) ST iR mﬁaﬁq femrer ®)  srorer fewem
© fomae iR swoss ferem D) - TR femem
€ Ry
29. Which o}m of.the following Iron-ores known as Iron-Carbonate ?
(a)  Limonite (B) Haematite ©  Siderite
D) Ma@ehte ‘ (E)  Question notattempted
fipfafad & A i A Tlie-3Th 1 S HE % =Y 3 S ?
(A) AR ®) TR © fasuse
O) AR () ATaRa TH
30. When was the state of Rajasthan completely unified ?
(A) 30November, 1959 (B) 1November, 1956 (O  30November, 1957
(D) 1November, 1958 (E)  Question notattempted
T T T U1 T THT el g ? i
(A) °30 &, 1959 ®) 1 TEE, 1956 (© 30 ES, 1957
(D) 1 78, 1958 () SATRATH
31, Which of the following state is known as Molasses basin ?
(A) Tripura (B) Manipur (© Mizoram
D) Assam - () Question notattempted
frafofad 8 ¥ S 91 T Heted e % T Y A SR ?
(@) P ®) AR © faeirm
D) 3mH B) ST I '
32.  The life history of the saints which is available in poetry form in Rajasthani language is known as
(A) Parchi (B) Vaat (© TJhamaal
(D) Jhootna (E)  Question notattempted
e e & ST S 8 Tl & Sfer geid P A 2
A) T=R (B © =
©) T ® SRR
33.  Who was the Chief Commander of the Mughal army in the Battle of Haldighati ?
(A) Khurram Khan @  HakimKhan (© MehmanSingh
(D) Man Singh E) Question notattempted
T 3 7 & Ty A B e ST i e
(A) THEA ® e EH © ream fi
©) ¥ fide ® FEEEEE
1% 7
#823 g o 3P P.T..
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famous for gota industry ?

34.  Which place of Sikar area is
(Choose the most appropriate option from below)
(A)  Nechwa ®)  Khoor (© Piprali
(D)  Khandela (F)  Question not attempted
St 35 ger A i T T e ST 8 9fs &2
(forer 1 s g Fed )
) fre ® = © o
®) @rsen (F). ST W
35.  Whichof the following was NOT the immediate major challenge of Independent India ?
() Adopted representative democracy b
(B) Toaccelerate the rate of industrial development. W csn 5 ANGID
(©)  Shape anation that was united ar wo I TH AR K
(D) Developmentof the society
()  Question not attempted
frferfiad & 9, T T F, P W A Tq@ g T i ?
) g st e
@)  Siehfies famm &l R A w
© Wﬂ‘?aﬁmﬁﬁm%wﬁﬁm@nm
©) T faEE
(B) A T
36. Whatis the main function of central prOCééSing unit (CPU) in computers ?
(A) To process data (). Todisplay data (© Totransmitdata
(D) Tostoredata {(E)} Questionnotattempted
e § dga rafdm 3fire (CPU) e rd 182 :
(A) SRS T TR HTT (®). iRl %1 yafid wT © SRSt i weEf w
@) oSl FI wufed F ) ST F
37.  Which of the following Constitutional Amendments gave constitutional status and protection to the Panchayati
4 &
Raj institutions in India ? '
@) 75t ® 72nd © 734
D) 74th ' (E)  Question notattempted
frefafea o @ frm gawfre deeE 3 mﬁﬁa’mﬂwwzﬁaﬁﬁémﬁmw 3R e WEH & ?
(a) 759 ®> 72 © 73
(D) 743 )/ STgara a¥d
38. This vita.min is an antioxidant, fat solt{ble and obtained from plant oils:
(4)  Vitamin By (B), Vitamin By, © VitaminC
(O) VitaminK (). Questionnot attempted
g o St Ui, o fodrr & ok < W) 3 et T R ST
(A forfir ® ot A, © (o
@ Fary (B) Srgafa WA
B23
# 8



39.

40.

4.

43,

#B23

‘Critical Minerals Summit, 2024" was held in which of the following places ?

(A) Bhopal (B)  New Delhi (©) Surat
©) Dhan.bad (E)  Question not attempted

frfefan § & fore T W Thfeher e B, 2004 smiferm g 7

(A) B f (B) T3 fRoeh © T
O) TR ‘ () sgaRaws -

The first two _fig}lres are-related in a certain manner. From the given options choose the correct option that
establish the similar relation with the third figure to replace question mark ?

Wmﬂmﬁ@ﬁwg”ﬁﬁﬁm%'mWﬁi#mﬂwmmm@ymﬁ%%ﬁm
w @ 3w fasmea @1 9 S|

000
000000
-~

: 3 3 2
) S ®) g © 8 ®) g
()  Questionnotattempted/ AT I
Which of the following area did not cover in first stage of Indira Gandhi Canal project?
(A) Barmer (B) Ganganagar - (O Hanumangarh
(D) Bikaner (E)  Questionnotattempted
Sy it et GRS 3 werm v # Frfefen § 9 w1 W & Jnfet & @12
(4) R @® TR © e
@) R () AT
Which country became the world’s first country to make abortion a constitutional right ?
(Choose the most appropriate option from below)
(A) Malaysia (B) Poland (C) France
(D) Holand (E)  Questionnot attempted
ﬂmﬁ@ﬁmﬁmﬁwaﬂﬁmfwmaﬁﬁwwq%ﬂw?
(e § @ werd S fased T) et 2
(A) AR ® S ——n © ¥
D) TS ® I
Who is the current Chairperson of Rajasthan Human Rights Commission ?
(A) Justice Ganga Ram Moolchandani ® J ust'fce N.K.Jain
(©  Justice Shri Ram Chandra Singh Jhala ®) J ustice Prakash Tatia
(E)  Questionnotattempted ‘ ) )
Wﬁmﬁwﬁwmmawaﬁﬁ?
@A) = I T e - (B) AN T 1
© = 4w foE wen (D) Al e At
() i@y

9 P.T.0.
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udiciary in the protection of the rights of the citizens and in promotion of justice

44. The assertive role played by thej falling within the domain of legislature and executive is called :

In society by mteWE@g in areas ) Judicial Activism (©  Judicial Review
(A) Origmal]un:-g:;tcl;gn ® Question not‘attempted . = \
(D)  AppellateJu 3 syl GaTT § TESTEeTeh yftrent o fermelt we ehrifereh & SR & sy &
T 5 W e ?
F =g 3 dadq Hi 7 HEl ~
(T)‘ % e ® =i i © e e
i ine dams of Rajasthan produces Hydroelectric power ?
45.  Whichofthe following dams (B)  MahiBajajSagar Dam © MejaDam
(A) Swaroop Sagar Dam .
(D) JawaiDam (E) Question not attempted
T 1 Freffad  © S 9 A S R S SaeT w2
(A) T AR Y ®) R TS AR iy © Hendiy
D) & WY (E) Iy

46. From the options below, choose the most appropriate meaning of the underlined idiom in the given sentence:

Laila’s feelings “ down in the dumps ” is a temporary phase.

(A)  Feeling very sad (B) Poverty (© Malnutrition
(D) Feelingelated (E)  Question notattempted

47.  ‘Goldenlangur’ is main fauna of which of the following biosphere reserve ?
(A) Manas (B)  Simlipal (©  GreatNicobar
(D) NandaDevi (E)  Question not attempted
frfafad 7 4 fow S smfam &9 = 7@ <ia, iees TR R?

@ T ® fafrm © FefrEm

®) FE ® g e

48.  Choose the most appropriate option for the passive form of the sentence below :
They rang the church bells as a flood warning
(A)  The church bells are ringing a flood warnin g.
(B)  The church bells were rung as a flood warning.
(©  Asaflood warning, the church bells have been run g
(D)  The church bells are rung as a flood warning by them.
(B)  Questionnotattem pted

49.  Which of the following is the largest zinc producing mine in Rajasthan ?

(&) Kayad Mine (B)  Rampur Agucha Mine (©  Sindesar Khurd Mine
D) Jawar Mine (E)  Question not attempted
ﬁmﬁ@mﬁma@mmﬁaﬂa%?
iy ®) TG st E © fewedE
D) SR @M ® e

20. mﬁChri)Ifl\tThGe following is 3 type of computer neﬁ)\r(;}k ?
(D) PAN B) BUS' (© STAR

Frefefe 3 € i ‘:Taaﬂ;q:,[(m Quiestion not attempted

(A) ¥R E TS (RIN i
| ©) B wyy & TSR (STAR
@) T (PAN) ) AT (BUS) © THUATIR (STAR)

® sRaye

# B23 10



51.

52.

53.

55.

56.

#B23

Dholpur Combined Cycle Power Station is operated b >94T3
A ) ’ i :
(A) Neyveli Lignite Corporation India Ltd. y W —dam J)JL

(B) Rajasthan State Mines and Minerals 1td, .

© Rajasthan Rajya Vidyut Utpadan Nigam Ltd G Wi il 52 O e IeNglD
D) Adani Power Kawai .

13) Question not attempted £75 4
dieTR FATES WEhel ol v Frafafad § @ fords g gafea 22
A) et fammee fm ara fafiee
@) T T EEH iR uf fafies

© T T fagd e fm fafres

(D) ST IR el

© G A

Which of the following is not the alignment of the paragraph in MS-word ?

A) Bef(?re Alignments (B) Left Alignment (© Right Alignment
©) hwhg"ﬁ e (E) Question notattempted

et 1 TH.TH.-S | I 6 W T 2

(&) T (B) < W@ ©
O SR ® ST

‘e’ H ffed wwE ® B

(A) e ®) rEE © wHuE
The characteristic of the computer to store data, information and programs is called :

(A) Speed (B)  Accuracy —~F 4 (©) Versatility
(D) Storage ()  Questionnotattempted

() T ® e © =EgE
(D) U Y &l € IFIARA T

What is India’s national flower ?

(A) Sunflower () [Lotus (© Rose

(D) Roheda (E) Question not attempt_gd

T 1 T T I € 2 1

A) gEE () @® P %3 © T
D) e @ AT o

A candidate who gets 20% marks fails by 15 marks but another candidate who gets 42% marks gets 12% more
than the passing marks. What is the passing mark ? 3

20% 3 T 03 T SEEAR 15 31 4 STaEEl B ST 2, AR 42% 3ie I ey AT 31 SEGan 1 S
i A 12% s i forer & 1 it A 1 E?

A 33 ® 30 © 45

O) 40 () Questionnotattempted/ S RIEGRCE ]

11 P.T.0.



57.

59.

61.

a Separate Andhra was called as ‘
(B)  The Vishal Andhra Movement

(A)  TheRegionof Andhra Movement
(©O)  The Vishal Movement (D) The Telugu Movement
(E)  Questionnot attempted

The movement for

Yo sy ¥ fog Y vl &1 W o =
EE R EE IR @) o sty etideH

© faeme e ® ESUEEIHIGE

Which of the following tourist centre is located close to Barmer ?

(A) Sam Sand Dunes (B) Kiradu Temples (©)  Shergarh Fort

(D) Natanion ki Haveli (E)  Question notattempted

frfafad § Q ®F 91 99 &g Tem & 79 e 72

(A) TAFWF A ®) Toug HfeR © UG fahem

(D) TaHE & g () HIIRATH

Which of the following file extension is applied to a MS - PowerPoint 365 Presentation by default whenever you
saveit? i oy

Frafafed § § 91 9 $Ed [9%R 1.1, maWTsz 365 YSI=YH T AR] EIT §, STel 379 34 fewree & (¥a) qifer
FAE?

A) xps (B) pptx © xis

D) .doc ® Qtiesﬁon not attempted / TR T

The diameter of a sphere is § cm. It is melted and drawn into a wire of diameter 4 mm. The length of the wireis:

T Tt 1 =479 8§ U ¥ 1 39 fUeeie U 4 At s & ar | dien S §, 91 w1 e 2

(A 3123 % cm (B) 1066 é cm (© 4266 § cm
1 A

© 213 3™ (E)  Question not attempted / ITTART ¥

Tea is an indigenous crop of b

(4) India ®)  Britain (© China

(D)  Srilanka (E)  Questionnotattempted

= 69 0 # T 39 o £ 2

@) ® fifew © =

(D) et () ERd T

eI T A Frm gy

@ T ® e ©

O F R

#B23
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Which is the largest ocean in the world ?

63.

ES; iilcat:ngcc??:an g g‘fi itCich:j:auempted (©  Indian Ocean
gl B TR G HETETT HIFI 2
@ 4 & FETT (B) WA TermrR © fie TR
D) sredifes HRER ® e

. ﬁﬁﬁﬁ?@ﬁ‘a’mﬁm%mmm%? '
(A) - (B) (C)

o (E) oI7ufa ww
Read the passage and answer the questions that follow :

In an often-overwhelming world, staying sane ‘means learning to remember and allowing to forget. Phones,

wallets, sunglasses, keys, a'box of cornflakes, even a ukulele and, once, a gate valve. These are among the things that
assengers have ff)rgoﬁen in cabs in 2023, according to Uber Ind’ia’s annual ‘Lost and Found Index’. Further insights
suggest that Delhi is the most fO{"getful city inIndia, that people are most prone to absentmindedness in the evening -from
7pmto 9pm- anq that the festive days around Diwali tend to make people more distracted than any other time of the
ear. NO doubt‘thls information is amusing, and even useful - one could, for example, learn to be vigilant about one’s

pelongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Scietice of Memory and the Art of Forgetting, the American neuroscientist Lisa Genova explains that
#5 finely orchestrated balancing act between data storage and data disposal” is key to a well-functioning memory
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work or
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreak
ofanearly love or the time a colleague slighted you. In their own way, both help maintain sanity in an often-overwhelming
world. Consider the condition of the titular character in Jorge Luis Borges’s story ‘Funes the Memorious’ whose prodigious
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary and
lucid spectator of....an intolerably precise world”.
65. The key to a well-functioning memory system is

(A) tonote the progress of decay, fatigue and death.

(B) veryimportant tosurviveinan overwhelming world.

(O balancing data storage and data disposal.

(D) reminding to pay taxes, and forget heartbreaks.

() Questionnotattempted

66. The main idea in the write-up is: \
(A) Making uslearn that forgetfulness is inevitable.
(B) Urging us to remember the things
(O  Allowing us to be forgetful
(®) Asking us to be more vigilant
(E) Questionnot attempted

67.  According to Lisa Genova, remembering and forgetting data from your memory is necessary because :
(A) itcan make the personhappy and contented B) forgetfulness in inevitable
(©)  this can make the person insane (D) it helps maintain sanity
(E)  Question notattempted

8.  Word ‘precise’ means:
(Choose the most appropriate option from below)

(A) Estimate (B) Vague (O  Abstract
D)  Specific (E) " Questionnotattempted

#B23 13 P.T.O.
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T T N AL ST = (LB
e P S T s R S kel

nstitution by the 737d constitutional amendment 0f19927?

69.  Which schedule was added to the 0 ® o 33 © 7
(A) 1tlhth () Questionnot attempted
® 9 o & FAE ST SR
753 s e, 1992 8 W A HH ST =) .
@ el ® o — ©

: AT T9A 3

@ o X B

70.  “Anti-Arrack Movement, in Andhra State was a movement against
(Choose the most appropriate option from below) ] '
(3) Industries (B)  Poor condition of farmers (©  Alcoholism
(D) Agriculture (E)  Question notattempted
vt et TN, gywad % fovg e W
(Fre 9 @ TER Suge T 9)
@) s ® Twaml =i 5z <o © IS
O F () TR

71. AR wARCICE:
T - (I) : ‘T’ 9 H1 IARY T H3 € |
wYF- (1) : ‘' AN S A I FSEROE g R
Suga worl o el § Frefafed famed # 4 W@ st -
(A) HU (1) 3 B, fhg weT (1) TR ®) j,,W(I)GﬂI(II)ﬁW%I
© e (1) 3R (1) I EAE R (D)~ e (1) TA &, fohirg Ther (11) 39 &
E) HATAd I

72.  Which of the following tourist centre is not located near Ajmer ?
(A) GulabBagh (B) TaragarhFort (© Daulat Bagh
(D) AnaSagar (E) Question not attempted
frafafen Tefe il o | HiH-81 TR & e feerd &1 & 2
(®) eI S ®) RE R - © <taa s m
D) SFErR B SAARA Y

73.  Choose the most suitable word for the phrase”Fit to drink” :
(A)  Hard and Saline (B) Potable 3 (O Venial
(D)  Contaminated (E)  Question not attempted

74, TR ¥ e i e 9 32 :
@) ® ® ©
@) =& ®  orafa v

75. Cho?se the most appropriate indirect form of the given sentence:
“Wait for me at the bridge”, said Rahim
(A) Ra}um. requested her to keep waiting for him at the bridge.
(B)  Rahim told her to wait for him :

Rahim asked to wai atthe bridge.
a sail atyou have tow itf .

(E) Questionnotattempted Aitiormeat the bridge.

#B23
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78.

81,

Given below are two statements :

: Ajmer was an i :
tatement @ Y N important o - o}
° final years of the nin etee:’rhen;iof political awakening and socl

II): In1888, j N
statement (1D Naﬁoﬁa?ggileggri!tse:rom Ajmer - Marwars participated in the A
nthe light of the above statements, choose the
®) Statement (1) is incorrect but Statement
Both Statement (I) and Statement (I ar

_economic activity from the

Jlahabad session of the Indian

most appropriate answer from the options given below.

(1) is correct.
(] Correct.

Both Statement (I) and Statement (1) are i
( Statement (I) is correct but Statemen)t (lrle) lizciﬁzrect.
) Questionnotattempted orrect.
R Fe Re g
wA (): 199 YT S Siferd auF & e o s ﬁﬂwﬁm-aﬁdmmaﬂwmﬂﬁ
CERICIRAN i

For (I): 1888, W T i 3 s e f st ARers 3 g § o e
i U 6 S, = 2 T freedi § @ wra soe s A | ‘

@A) A (1) T €, WAl A (1) TR

® A () SR e (1) S wh F

© TE (1) R HAT (11) I Tea ¥ |

D) AT (1) T ¥, AfwT e (11) Tora ¥

€ ARG IE

Integrated Child Development Scheme (ICDS) was started in the year :

THIgd o T de (TR W Eiwm,) fog ad g & ot ?

(A) 1985 (B) 1970 © 1975
(D) 1980 (E) - Question not attempted/ ST T

Which of the following is not a social networking website ?

(A) Hotmail (B) _ Facebook (© Snapchat
(D) X(formerly Twitter) (E)  Question notattempted

frfafad o @ S T W Jeafd JauEe 76 ¢ 2

() wewd ®) FEEE © FOw
@ X (3 # feren () TaRa T

Choose the most appropriate Hindi translation for the given sentence :

Your anger is justified.

@) YR T S € B) ST TEH H-TE € © e e S fw
D) TR T SgfTaTE el %1 _ (®) Questionnotattempted

A person is facing East. Then he turns 135° in clockwise direction and finally turns 180° in anti-clockwise

direction. In which direction is he facing finally?
(A) North-East (B) - West (© South
(D) South-East (E) . Questionnotattempted

@aﬁaqﬁmﬁmgfqg@%iw%aﬁasmw-sﬁ#ﬁmﬁw%#ﬂmz 180° =€t & faudia fewm §
o 3 | 7 7 T e Y 3 TE FF TIE?

¢ I ® imz © - <
O o B g

Which of the following is not a bitw ise C’Pfra:;?r 1

Fretfefian & @ - faeea e T &

@A) << ® - © &
o > () Questionnotattempted/SFIRRT T3

#B23 15 P.T.O.
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82.  Choose the most appropriate English wor
o ®) Procuration (©  Proconsul
(A 1 rocession (F)  Question not attempted
(D) Proclamation . the highest wind capacity during 2022-23 ?
83.  Which Indian state rccord-L (te 0 tion from below)
(Choose the' most appropriate op (B) Karnataka © Gujarat
(A) Tﬂ{“"t';]adu (E)  Question notattempted
(Q),.) Rajasinan | g e &P (feie difafe) <ot @ e 2
2022-23 % AN fora It T”_"‘ﬁ ( ) ™
(fre & @ T Suga fawed 97)
@ e © T
(A) " dfderrg
D) TIEH () TR
84. Who among the following is the member of the Inter State Council and the Governing Council of Niti Aayog,
both ? . . s .
(A)  Speaker of Lok Sabha (B)  President (©  Chief Minister of States
(D) Governor (E)  Question not attempted
frrfafea 4 & 9 sia T TRog vl Af o 2 yres wiug (rafin wefe) T o HeE B
(A) AT AR (B) TAfa (O T % g Hsh
D), TF B) IR T
85. Givenbelow are two statements :
Statement (I): Fishing can be done only in freshwater ecosystems.
Statement (II):  Fish s a cheap source of animal protein for our food.
Inthe light of the above statements, choose the most appropriate answer from the options given below.
(A):  Statement (1) is incorrect but Statement (I1) is correct.
(B).. Both Statement (I) and Statement (II) are correct.
(O ... Both Statement (I) and Statement (IT) are incorrect.
(D) - Statement (I) is correct but Statement (IT) is incorrect.
(E)  Questionnotattempted
T Fo fgumu ¥
FEA(): T VT horel T Wil IR (geRife) o ekt B
A (11): "wmm%mw%mmm@ﬂ%
ITUH FA ok e b, ﬁmmﬁmﬁﬂmmwgﬁl
() e (1) T € R e (1) W
®). . Fa (1) A w (11) S e
© BT (L) M FAT (11) 2 ) e
®) EW(D%%%?&F{%W(]])%@
B Srafaye
86.  The poultry feed includes -
(Choose the most appropriat .
(A)— Concentrates andpm: i;eocl)):lon from below)
(© . Maizeand barley onl y (B) Roughage and concenFrates only
(E) ~ Question not attempt(‘{d D) Maize, barley, pearl-millet etc.
-2 & 7% wfirer g & |
=1 4 & waw .
(TS 5 TR v )
(A) O TG A i vy
© T T 3 g ®)  heret wire iR TR =W
€ FIERa T O) T, i, e S
# B23
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e given question a statement followed b . i
g nth t%xing in the statement to be true, th y tWO'Conclusions numbered Iand Il are given. Y_Od a;/\g to assume
every + Hien consider the two conclusions together and decide which of them

) ogicaﬂ)’ follows.
gtatement: India’s economy is depending mainly on forests
Conclusions: (D India wants only maintenance of forests to improve economic conditions.

- i b(H) taTrees should be preserved to improve Indian economy-
[n the light of the above s tements, choose the correct answer from the options given below.

lusi
®) If on.ly conclusion (II) follows B)  Ifboth (1) and (II) follow
© 1f neither (I) nor (1) follows '
} (D)  Ifonly conclusion (I) follows
Question not attempted

mmgﬁﬁ,@waﬂ'{mmlﬁtnwiﬁﬁ%ﬁasﬁﬁqwq%laﬂﬁwﬁﬁﬂgwﬁmﬁﬁmm
3 firt Q] Fend T 1 e o i Pl 3 o 4 i i 0 6 ST R €
5o : I i TR & T § T R PR w3
bl () o S feet e 3 fere s it St TR o 1 T FEE
@ St o aReE, R s 1 gu 3 ferg fmen T =ifed |
Sriad FUAT & T |, e e T foswedi § 9w 3w g |
@ et () STEE R @) () s () T e @
© [ (1) SARAE (1) FTFOFAE (D) et fore] (1) TRV B €
E IR A

8. Given below are two statements: =

Statement (I) : First Prime Minister of India wished to achieve the objectives of Foreign Policy through the
strategy of non-alignment. o

Statement (II):  India was never trying to convince th
non-alignment.

In the light of the above statements,

(A)  Statement () is incorrect but Statement (II

(B) Both Statement (I) and Statement (1I) are correct.

(© Both Statement () and Statement (IT) are incorrect.

(D) Statement (I) is correct but Statement (I1) is incorrect.

(E) Questionnot attempted

e other developing countries about the policy of

choose the most appropriate answer from the options given below.

) is correct.

Foy:  EERAE A % A
S HYAT & SATD

(&) A (1) TEC §, et ahert (1) FE €
®) W(I)afﬂam(ll)ﬁﬂ’iﬁ'

O e () st an) S T <

®) m(l)aﬁ%,ahﬂm(ll)"?‘“%'
€ SAERa YA
#1823 17 P.T.0.
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. g g ber series ?
sstion mark(?) in the following alpha-num
89.  What should come in the place of ques ?
: ?) % T W 41 S AT
{ V:- )_-5— :(ng g D]?BA- N .
121G o
) EBlF (E)  Question notattempted/ Wﬁﬁ R
®)
90.  Plantation of which of the following trees can help to prevent forest fires in Himalayan re yion ?
) s ion from below)
Choose the most appropriate option
((A) Tondl B) Mahu (©)  Rhododendron
(D) Chirpine (E)  Questionnotattempted
frefafea & § S W gar fearerm &9 § 97 3 31 Y Ao § geEE O wHEA@ L2
(f=1 5§ Wl Sugen ferered )
@ ¥ ® WY © WeEgw
O e ®  ¥Fafa v
91. Who was called the Father of Indian Renaissance ?
(A)  Keshab Chandra Sen (B)  Debendra Nath Tagore (©  Ravindra Nath Tagore
(D) RajaRam Mohan Roy (E)  Question not attempted
IR ISR Bt S for) ot Ty 2
A) FIEEZE (B) 9% My ¥R © g iy TR
®) T W A W () gafaww
92.  The Darrah Game Sanctuary was converted as .
(A)  Mukundra National Park (B)  Keoladeo“Ghana” National Park
(©  Desert National Park (D) Sariska National Park
(E)  Questionnot attempted
W%Wﬁ\%mﬁuﬁaﬁa%mnml
@ TR B) SR T Sy
© R v D)  wftw Ferer vk
® R v
93. Inwhich f
@) ; d(:u' the following cities of Rajasthan Mahindra World City is located ?
o) Jaipulr)ur (B)  Jaisalmer (©  Jodhpur
. ®  Question notattempted
Y 59 W fror 3
@ S g 2 :
(B) e © g
®) SR ®
TR WA
4. T H EH O figgry; T ’
A T
®) & © Il
O W= ®
) STaRa g
# B23
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97.

9,

#e23

i s

S B 3 B

0 ELZx T o R o
SRR

|

in [ndia’s context full form of CSIR js -

() Corporate, Socialand Ind ustrial Research

®) Cot nC{l of Scientific and Industrial Resear. h
© Council of Science and Innovative Researc;

il of Social and
D) Counct and Industry R :
Question not attempted y Reproduction.

v % Tl W CSIR =1 i w1 31 32

) HTINE, el T0E gusfiee fad =

@ A S ARl WS srefigm fad

© 5‘5'3"95' 3T e IS gafeq fd

(p) FEEA % W TS el foear

® a@’ﬂﬁﬁ ELg!

{\nkur dePOSitfd Rs. 8,000 at simple interest which amounted to Rs. 9,200 after 3 years. Had the 2
interest been 3% more, how much amount he would have got ?

(A) Rs. 10,000 (B) Rs. 9,900 (C) Rs. 9,800

([?) Rs. 9,920 (E)  Questionnotattempted

i 3 8,000 T TIHO <A1 R 1 o S o6 3 0 g 9,200 T A 7t
frat T Tt Bt 2 -

(A) T 10,000 (B) % 9,900 © % 9800

@ ¥ 9920 () TAE A
e centre, not necessarily in same

A,B,C,D,E,F,Gand Hare eight friends sitting around a circle facing towards th

order. H is on the immediate left of A butHis not the neighbour of Eor D. Fison the immediate right of Band G
is the neighbour of E. C is between E and F. What is the position of G?
(A) Immediateright of D (B)  Second to theright of F
() Immediateright of A (E) Questionnot attempted
A B,C,D,E F,G iR H 318 i, TF g9 & TW $ire g ) O ge fRT AT, YT T4 4 wH FH E

H,A%éﬁiaﬁdﬂ%ﬁﬁmﬂ,EmDﬁswﬁqﬁ%m,B%mﬁaﬁi%aﬂ?cmq@frﬁ%m,Eafr«:P
FqerdiaE G Fi feafa # €2 ,
(A) D % 3 =% 3 @ FHE AT
D) A % < AN (E) STIRRA A

ed due to the failure of the constitutional machinery in the states. It is invoked

nnual rate of

aiffer =1t 3% A 2 Al

(©  Third to the rightof F

© FHE AT d

When an emergency is declar

under: ’

(A)  Article 360 @B) Article350 ©  Article352
E) Question not attempted

(D)  Article 356 .

<o T 3 g ﬁ@ﬁﬁﬁm%mmmﬁamm%lﬁmaﬁz@m%?

(A): =t e @) STIE< 350 (©) =R 352
d ® ST T

®) %55 356 7
What s the percentage of reservation for women under MNREGA Act, 2005?
¢ option from below)

iat
;(;l;);s;;he moz;tozgpgpaf; el 36 T, STRATT e feer €2

(e 3 2 ey 3R faeed 31
® 20% © 25%

(A)  40% .
o 33 () Question notattempted / SR T

9 P.T.O.



100,

101.

102.

103.

The artificial satellite which is ®)

seen at fixed position when viewed from the same location is called ;
a
Non polar satellite

(A)  Geostationary satellite (D) Remote sensing satellite

(C)  Polarsatellite
a;ﬁqza‘éﬁﬁaﬁf@ﬁ (fererrg disfter) # 3@1 9 E

(E)  Questionnot attempted

T2 s 7 Fo 4 A A TN 1 T ST

(A) *{-‘.Jmu?:i’. ((B[;) i (R ¢ ing) STIE
) ) W@I@l emote sensing

(© T T b

Given below are two statements :
Veer Savarkar formed

with his companions an
British government had imposed a
Independence” before it could be published.
In the light of the above statements, choose the most appropriate answer from the options given below,

Statement (1) is false but Statement (II) is true.
Both Statement (I) and Statement (II) are true.
(C)  BothStatement (I) and Statement (II) are false.
(D) Statement (I) is true but Statement (II) is false
(E)  Question notattempted Lk

TR FEA TR E
FAA(): 97 AEE 1 g, memwﬁwﬁﬁmmﬁwﬂ?ﬁ%maﬁmm

an organization named “‘Mitra Mela’ during the partition of B ngal

d made a bonfire of imported clothes.

Statement (I) :
ban on Veer Savarkar’s book, “The Indian Wy

Statement (II) :

(A)
®)

FUZI 1 2l T | -
mﬁaﬁmqanwmw 'r;sf‘@maﬂsm?g%ﬁ%u % YRITH © T8l 81 39 W ufady am

fzm
TETH T4 F AEF E, mmmﬁmq@wﬁmmgﬁl
(A) W(I)Wc,—amazmm)m%‘l
B FAA(I) ATFD (1) A A TAL
(© FFF(I) F7 HFA (1) ZH1 Tod &
(D) FF (I) T3 %, TF3 Ha7 (II) Ted 21
€ FIAHATE
Compute the : Binary Code addition (BCD)
a1z -di?l’w JH(BCD)W‘-F{%WTUHWT{

2+3=
(A) 1111
(B) 0000

© 0101

) 1000 ©
Queshon notattempted / 3TFARA T

;T’fhgefnﬂ;e f‘;ﬂof‘;‘fg Banks was originally named as Imperial Bank of Indi
( al Bank of India prindis |
(B)  Reserve Bank of India (©  State Bank of India

(D) i f’un}'leb National Bank €  Questio
’ =313 o = nnot
T Zmﬁ’ﬂﬁmmﬁmmmﬁ; ::tyempted
(4) HAET A iy
B) uRdE fed ¥
O TEATTEAEE : © YA R R
B ATfEye

=41 (1) :

?i'

# B23 ’
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X

{5

6

states created in 1960 v, Eve-
Haryana and Himachg P

P rad
_ Maharashtra and Gujarg esh ® M b
Que stion not aﬂ?mpt:za;i t D) M:}r:ia}:isr};t;?j?rr;?pz::]a
71960 H qﬁ;‘_{m g .
W T 3 = L (B)  wemw e
o) % ST i) F EEIE
® S 9 TR #fR Forga
A 'Ch;;;rﬂiflol}:ﬁgti:yg SOk agro-based industry of Raiasthan ?
gD; Cement Industry % - Ié‘lbbeﬂﬂdus]tly . © Leather Industry
k! -+ Question not attempted
e ST T 8 1y s 3 o oy 7 52
®) it < (B)_ g 3 © =
o B  SaRa e
ett-1 3 e TE-11 1 e #ifer
W‘I ‘Fﬁ-ll
(a) Endorsement i) fore
(b) Transliteration (i)  SmEEE
(© Subordinate (i) EE
(d) Transformation (iv) = ST
403 g T P R TR T 9 |
A)  (a)-(iv), (b)- (i), () - (i), (d)- () -~ ®  (a)- () (b)- (), () - (iii), (d) - (V)
© (a)- (i), (b)- (i), () - (iv), (d)- (@) = @)  (a)- (i), (b) - (iv), (9)- (i), () - ()
B R i
. Choose the most appropriate option:
Agood official letter need not have- -
(B)__ Proper salutation (©) Clarity of language

18,

(A) Latin quotations
(D) Clarity of subject
of 30,4 Q2 and 5 () are connecte
Which of the following option (5) is /are correct? '
()  The potential difference across all the resistances is same.

()  The current in each of the resistance is same.

()  Theequivalent resistance of the combination is 124
is0.5A.

() Question not attempted

Three resistances d in series in a circuit in which a battery of 6V is also connected.

(d)  Thecurrentin the circuit , . _

Cl)mose the most appropriate answer from the options g“’i;‘ below’: :

®  (a),(b),(©and (@) (B)"- (@)and (b) o'y ©  (9and(d)only
, (D), ) Question not attempted

gqﬁ%?ﬁ??%%ﬁé,Lm@ 0 st 3 gL E Fow T 6V 1 et ot 1 &1 e frarfr  Frefenf
§ Y o g fowea 98 €7 ) G

(a) mﬁqfaﬁu‘iﬁfﬁﬂaﬁ‘{ﬂqﬁ %'l

(b) muﬁﬁuﬁﬁqﬁmw Q%"
©) e i o g T 2

2l
@ wfbed e MRS C
ﬁfmmfﬁmaﬁﬁ'@mmg 3ﬁﬁﬁ%aa(a)aﬂf(b) X
A ‘ ® © CELE)
@ (), (), () FR(D) € T

D) ¥ (b), (c) AR (D)
= P.T.O.
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110.

T X R e vt 7@ E? .
EVI ® FW © et
©) i ® ST
Which of the following district has highest production of cotton in the state of Rajastha.n ?
(A)  Jaiselmer B)  Jhunjhunu (O Bikaner
(D)  Sri Ganganagar (E)  Question notattempted
e TR T A ST 1 T 1 SR T e e
(@) e ® I © R
®) =R (B)  STTaRa we

Who was the Chairman of the committee on financial systems in India, which recommended the setting up of

111.
Assets Reconstruction Fund (ARF) ?
(&)  Sh.M.Narsimha (B) Dr. ManmohanSingh (©)  Sh.P.Chidambaram
(D)  Sh.Pranab Mukherjee (E)  Question notattempted '
A # Fae o W e Wi ¥ orens B A, Ry ufufa & ki i (TRTE.) R T R
T = ot ?
@) S whEs ® Sl AR fde © A . fagam
©) st o= TEs € ra we

112. Choose the odd one out. )
3g e = g1 <1 Rl @ | R
NCAACHIL ’
D) eA e (E)  Question notattempted / 3TTARA ¥¥H

113. The smallest unit of data in computer is .
(&)  Bit (B)  Nibble: © KB
[©) Byte (E) Question notattempted
TR T wel H gad S S ?l
@t ® © & (xB)
O =& € AT

i B23
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114

115.

116.

117.

R T W S G A —— =
who is the author of song ‘Dp, tiD i
" ) Kanhaiya LalSethia " PhoranRi'? O AllahJilai Bai

Gavari Devi (B)  Vijaydan Detha (

NP T @ ; ﬂ:1(13) Question not attempted
S g?

@) FEEE S . o o e LI

e 2 i bl (
© | ®) S v
Gtates Reorganisation Act was passed in - o
() 1956 y 1953 1953
D) 1955 ® 1952 ©
g (E)  Question notattempted

e S 07 B

() 1956 F ® 19527% © 19537
®) 195" ® SR
The Sankosh Hydel Project is Joint Venture between )
(A) India and Bhutan B) India and Nepal (© India and China
(D) Nepal and Bhutan () Questionnotattempted
GRS TATsISTen TREST o <t <9 % o &1 Sge SaH 2
(A) - TRA SR gz @) AR T © ud SR
(D) IS SR €) STIIRATH
Rhinoceros are found mainly in one of the follmivijn};;Naﬁonal Park/Wildlife Sanctuary :
(A) Mhadei (B) Kaziranga (C) Periyar
(D) Rajaji E) Qixéstif)n not attempted
e T T @ T T /AT TR H e S € 2
@A) TRd ® @ W
D) Tl () SR

118. If'<’ means ‘minus’,”> means‘plus’,’ = * means ‘multiplied by’ and ‘$’ means ‘divided by’, then what would be
the value of
31>81$9<7is: ;
ai'< TE s Y= TR A R
31$81§957mm‘zﬁ7ﬂ: £y
@) 41 ® 31 © 33
o) 37 (E) Questionnotattempted/ FIARA T
119, First Global Summit on traditional medicine was organised by the World Health Organisation in which state of
India ? S
(Adla N (B) Kerala (© UttarPradesh
(D)) Kuj i (E) Questionnotattempted
arna a .
fors e e g Ot fafRe W e AT e T W < o T H st frn 2
@ T ® = © IWWw
(D) RS ® S
#8B23 23 P.T.O.
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120,

121.

122,

123,

Given Deloy ;
. vare two statements , 1542 A1 In Dholidub
Statement n: Dadudayal (Kabirol Rajouthan) wan born on Phalgun Shukla Naymiin I

villagoe of Alwar.
Statement (m): Dadu gave My teachings on Bralima,

(Sadhukkadi). ; riven below
ven below,
. , . : s o from the optionsi ¢

In the light of the above statements, choosie the mont appropriate answe f |

(A)  Statement (1) is incorrect but Statement (1) js corpect,

M) Both Statement (1) and Statement (H) are corpect,

(©)  Both Statement (1) and Statement (H) are incorreet,

(@) Statement (1) is correct but Statement (1) ds incorrect,

(E)  Question notattempted

= o g e ) X

WE(): IR (TS 7 i) TS st i oiveligey defiga it i 1542 AD  HICT YA RELIRD)
BTl o1l

WRAT(M): T N wE v (gEe) W s, o, ser sBT ey s 3ule fau

SR el 2 aeiien A, 9 fig g faen) 1 ) ey e T 9

@A) e (1) e ¥, At e (1) T ¥

B) YT (1) 3 wYT (1) DA e ¥

© @A (1) sl e (1) =1 e §)

(D) we (1) wEh B, AfKT | (1) e §1

@) ST w

The first Chairman of NITI Aayog was : |
(A)  Dr.ManmohanSingh (B)  Sh. Narendra Modi (©  Sh. ArunJaitely

fiva, Jagat and Mokuha Jna pimple language

(D) Sh. Arvind Panagaria (E)  Question notattempted

fifer 3T % worm sy 4

(8 e e fuw ®B) A g i © i a1 S
(D) 4t srfax gmifgan @) safta W

The pair of autosomes present in human beings are : -

T far A forer) S wfe o (@) 9 2

A) 46 ® 23 } © 22
D) 21 (F) Qucslionnotnllemplcd/i‘:ﬁﬂﬁﬂm

The ratio of the number of boys and girls in a schoolis5:6 . If the percentage increase per annum in the number
of boys and girls be 20% and 30% respectively, what will be the new ratio after one year?

@Wﬁmgﬁza@ﬁﬁﬁaﬂ#@nmamsé6%mﬁmﬁaﬂzmﬁsﬁfﬁﬁmﬁm-20"/aﬁ? 9
T AH 9 Feh , T e 3 TN ST g 2 ' : o
A 11:17 ®  10:11 © 10:13

(D) 11:13 (E) Queslionnolauumpted/?»ﬁ'ﬁﬁ?‘fm
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7 o the aspects 01;1 Populatiop, are g i.
cu . : . ’
) Grancapy o o i T
ﬁﬁm@ﬁ ﬁ' -a f‘a"_g .ﬁ.q-q/ﬁsn:{ .ﬁ W_(;:)T a; QUQSﬁOn Ijot attempted
p e ‘ I S i <t g 82 g
A o ®) Wl o e
) €)  orafta yo
g A ST F w7 3 g
# 5 g YR e o
g Far H ® e © W
& €)  geRawe
‘ Match List-I with List-II. :
2 List-1 -
Memorials ~List-11
@) Jaswant Singh’s Thada . Plflce
) Chhatris of Rulers and Paliwals (1) ]alsah'ner
© Chaurasi Khambon Ki Chhatyj (H) Bundi
d Fateh Gumbad Eﬁ)) ;tld‘; ar
el % 1 G-I e wif pur
T - EEn
@) e T o () SRR
) ST SR AT # s () =@
© v @t w s (i) SR
@ e TR (iv) SR
Choose the most appropriate answer from the options given below :
43 fro T el § 9 WO I I A |
(a) - (i), (b) - (iv), (c) - (ii), (d) - (i)

B @- (i), ®)- (@ ©-O -0 O O @
©  (a)- (i), (b)- (i), (c) - (iv), (d)- @) ©)  (@-(v), (b)- @) (0)- (i) () - (i)

B Question notattempted/ 3y T

Which city of India hosted 141 st [nternational Olyn'lpic Committee Session ? |
(A) Chennai (B) Delhi © Mumbai
D) Kolkata ® Question notattempted
% af i =1 anfaed fenar ?
‘“ﬁ%mwﬁmmmﬁ@ﬂaﬁaﬁ%mﬁﬁ |
W ¥ @ © T
0) i ® S .
ioh C issi to India by Britain ?

. .t woman ngh;Cpn.\mlssmner y r
rgm hfﬂf’ cenappointed as the B - i Ahion (© Alicia Herbert
0O L y Gunasekar @ Questionno a7 emp ‘

indy Cameron P—
W g g e 1 TR T
WA ¥ g JoH

B foreh ®) Wwij © fafEn wEs
D) feict e ®
= P.T.O.
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Ty ] wit 9
AL oRmanya titak Awand§

et of
WO hias ben chosen as e et @ D KSvan o\
(A Narendea Mo " ..\m.milmh 5 { }‘3 — _‘,:\f(',’j (\4 H _Q,s
(( ) Dr, Mayilsamy ,-\nlh\(‘ll‘-di £ ya ) (} W ¢
e & AR
(1) Questionnot attemptod . . Yl WITH 2 AR ESY) b
RIRAC (i et Al el AL oy S =
SN K G LG TR TR (VT T RN A ' \
LAAULLARLLR O R ORARIR
Ay R »
© @l el o :
(1) ot uet
g Qe A Y R 2 :
y 3 T Q Uy §ie anu )
Ay o el e o ) ) e RUTR R QI e 9
(€ whreeE e | @) W e et sl SUSELESE
(1) ol
The total marks obtained by a student in Maths, Sciehee, Social Science and H“&t‘“s“ together is }'m‘ wore than
marks obtained by him in Seience and Maths, Whatds the average marks obtained by himin Social Science at
Linglish together? )
fie nfora, frar, el @ AN oSl W U W W e atw, frar o nfv § wrw of sl ¥ 140 Kt
¥ o ferarer ol o S B W ofa i ol R
(A) 50 ® 75 o © 7o
(Y Y
M 60 ()  Question not attempted /377 RIEGR NG
Which of the following states has the highest solar power generation capacity ?
(A)  Kerala B)  Rajasthan © Tamilnadu
(D)  Karnataka 1 Questionnotattempted
forver W 9 form T A it Sl Seare e T o 2
(A)  w@ ®) TS © g
(D) hlh (l{) 3@]&?{“

The profit carned after selling an article for Rs, 680 is same as the loss incurred after selling the same article
Rs. 426. Find the half of the 50% of the cost price. (0}
(A)  Rs. 13825 M)  Rs, 100 ;) €) Rs. 150

(®) R, 148.25 () Questionnot attempted

T TR Y 680/~ TTA W A=Y W arfh X b a4 s
Wsnmmﬂﬁi/%m; IR T et g ot 26,/ T AT g w3 e e

@A) % 13825

® 190 © T 150
D T, 148,25 ,
®) ®) o T
26



ven pelow are two statements .

: t(:  Dr.By
P opatemen imrq i
5 Customg of (t)h‘:';;l;id;?r led the Mahaq Satyagraha in March 1927 to challenge the regressive
nt (1) : Dr. Amp, ¢ Hinduys, g
gtateme bedkar agp. 1. _ . hlight the difficulties
and grievanceg osfta}l: lished the Baishjit pjtkarini Sabha in 1924 to highlg

jnthe light of the above stay, Sier the dalitg before the government.

n below.

- , Cho i ive
®) Statement (1) is Incorrect by Statoes::\ii I(x11I0 s't appropriate answer from the options giv
0 Both Statement (I) anq Statemen; a1 ) is correct.

% Both Statement (I) anq Stat ) are correct.

€m .
[p) Statement (D) is correct byt ent (I1) are incorrect.

. Stat i3
Question not attempteg €Ment (1) is incorrect.

®
A9 QY R Y MCE !
D: Sl iWe : B -
o (1) e a‘agﬁﬁqﬁf1927ﬁ%§mﬁﬁmgmﬁaﬁﬁﬁﬁ%§mmwﬁﬂﬁ
FOA(): ST STEEH 1994 : : . S
wgmﬁm?%wamaﬁmﬁaﬁ?ﬁmﬁm ?q wfespd

mmﬁmﬁ’%mmﬁWﬁﬁWWwiﬁh
) (D) T E, S e (1) 2
® HE () SHE (1) 3w
© T (1) 3 HAT (11) 2 e
D) I () W T, A hert (1) e ¥
B IR I

5. InPowerPoint presentation, animation mainly decidés.
(Choose the most appropriate option from below) © -
(A)  how the slides rotate. (B) - "Vl_ww the slides appear.
(© how the items in the slide appear.. (D) =~how the text looks.
) Question notattempted s

TioRUig< USiey™ H THYH & 9 | F1 fuifi s 2

(F=1 4 & v suga foshed 99)
(4) wIESH Y YA € | @) WS Y e 3@ ¥
O vEsH o 4 RKar @ gl O R e imy
B SrgaRays
B Peri inciple of :
0 scaterngotlght @ ot O reflctonofight
D)  diffraction of light ® Q‘,,‘e»?“,"“ motaliempied
Wy fopers fagia o @ 187 T
@) v gl (B) S ST © R REA
D) yemy farad ® <3 d g "

I fillin the blank in the given sentence :

* Choose the most appropriate word to

le would be able to see it.
Ifth . ture lower, peoP
W) g TP gy hung © hang
) on’t hang (B) Questionnotattempted
would hang :
# 523 27
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138, .
* Giveny ts:
Stace elow are two state‘:e:, rock is mostly used in the manufacture of superphosphate Which i 0.
ment (I): PhOSP af r Crops, fruits and flowers. ' ”""’-Wi .
- Nutrle}r:tt Omck has been located at Maton, Karbaria-Ka-Gurha, Kanpuyr Dak )
atement (II):  Phosphate! Aravalli formation of the Pre-Cambrian age near {7+ <2 Koy,
Neemach hill, all the , > Mty andj ai:: l?pl
areas. . ‘
t i i
In the light of the above statements, choose the mos't appropfm a 1o theptions S beloy
(A)  Statement (1) is incorrect but Statement (II) is correct.”. - '
(B)  Both Statement (I)and Statement (II) are correct.
(©  Both Statement (I) and Statement (11) are incorrect.
(D)  Statement (I) is correct but Statement (II) is incorrect.:
(E)  Question notattempted ‘
T < e frm Mo “1J
FE(): PR R e SR REERe % i d v w5 e € 5 v, we i
e 9t €1 |
R (I):  Hrehe TgM T, HEIRA-HI-TE], HHYR, SR il aﬂﬂﬁw%’mﬁﬁ%%uﬁwﬁw
SR Seeh! o I H-H TS I Rt STl S © |
ST Ferdt % el 8, e e 7o et § ¥ e e S |
(A) ST (I) T § AR HAT (1) T |
®) e (1) 3w (1) S W T
© = (1) SR (1) 3 @ E
D)  w¥A (1) FE 7 Al e (11) e 2
(E) STIuRawwE
139.  Choose the most appropriate preposition from below in theisﬂentence :
India is beset many problems these days,
(A)  on B o '
D)  with i S
(E)  Questionnot attempted
140. Which of the following banks is known as Bankers Bank in India ?
(A)  Indian Overseas Bank (B)  Punj i
jab National Bank (©  State Bank of India
D) Rese;v_; Bank of India (E)  Questionnot attempted
Frfefias # & fra S 91 v & Sod S 3
A Y S ST ¥ 2
(&) ¥fee sheefisr e B) ST ore S T W i
RUCIRRIE G B aEfhw -
4 3
141, " S, o i v fag SreRIfeR 7 a7ef B
(&) T foeg @ e
®) e w1 oft ot o e v 4w SECT
© I SR ARt o L
D)  FEANEN AR e
(E) aﬂﬁii‘ﬁm
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i e oning Bl 058 S v ponda of
s By il e (g WERETR
fovew tvvent By WORS

¥ P M . 3
m ke LU LTS Wy 16hg

o el o ¥ R S VT e ® Question Pt pseom e

A . . & 1 Pl WY W
grn, R TRE B W v r:*;:w 567 b ity fe B B § e i W ok WY OF
18 fEm - :

N | , .
M 13fes Fa L o
om fam . |
R G e ) o
how ANy agro chimatic 2ome. .
:‘“ ¥ VT |, Tyom ?m?;a g,‘ " :he state of Rajasthan divided. for the purpose of agriculture ?
20 T TTEN ey 65 et e )
A 2
= ® 8 SERL
o 12

) Question not attempted / ¥R 791

... hasbeen established i ; —_— fal sci z
and technological knowledge at th:;rgu“‘;’:‘(::‘;“f:apstmm with an objective to disseminate useful scientific

(A) National Research Instityse
B)  StudentScience Center

() Scienceand Technology Resource Centre
D)  Science and Technology Recreation and Rwﬁnh'fen -

() Question notattempted

T HET, famqu’Mﬁrvﬁfwm:m,M,V-_.;;:Z';,_ﬂmmmmm At wd e wrr W
VR T & 3Xva | v fam v b '

(A) T STHIE F

® ®Efaam e

© fasm v denfrE donE

D) fasm vd dreifre gAeE TE STEEE ¥
® SrgafE v

Following is the full form of SLR in Indian Financial S}“st?.m is :
D)  Statutory Low Ratio ()  Question notattempted

P —

wTd forsir womeht & et 8 | T T STELR) wﬁsn :
Ay Aufr e s ® T mm © U IR s
A vA
‘K‘ "B N = 7 ‘
= 25 60N = 33, then PEN e 3

% B = 25 %, SON = 33, 7@ PEN LT A o k? |

A) 49 ' ® 3 © M

®) ()  Question notattemptind/ suqafon ey

16
9
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tenin the reverse order, which letter wij be sixth
to

s M/ is writ
147, If the 4 ishal habet after '
' the second half of the English alp rend ? ) . ‘
right of the thirteenth letter from the ]ei F dg g’ AR e FH # feran ST A SR A T R F B i
4 = <
M, iy e 35 7 o A 0 M
A e A A7 ® H © T
Wy (F) Question notattempted/ 313 AR T
®) U oios?
i f industries !
. . nis famous forwhich type 0
148, The Vishakhapattanam Industrial Region ielamo
(Choose the most appropriate option ﬁon; ?W) Steel ©  Automobile
ron-
(A)  Ship building (B
5 ttempted
(D)  Engineering ® . Questlon not:‘; P
Tz Senfrs iﬁﬁﬁam%mzﬁﬁmm%.
(Fre i 4 Ty 3uge fased 99) : }
() e Fmf () TEEE ©. ST
(D)  Fefiffim ® FIIREAIH
149. First human to walk on the surface of the moon was : -
(A)  Sunita Williams (B)  Yuri Gagarin (©  Neil Armstrong
(D) Buzz Aldrin () Questionnot attempted
=ZH % FqE T = i gee Jd
(A T fafams ®) g4 TR (€ e s
(D) T feE B AR
150. ‘Operation Flood’ is associated with .
(A) RedRevolution (B) Green Réyolution (©)  White Revolution
(D)  BlueRevolution (E) Questionnotattempted
‘ AT were i HAY € '
(A @@ HfadE ® camfad © wawhd
(D) el whifd 4 () aRa T
-00o0-
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